2024 Fall Math 140 Week-In-Review
Week 13: Final Exam Review

Disclaimer: This is by no means a comprehensive exam review. These problems do not
cover all topics or all the ways in which the topics covered could be asked.

1. For the given matrices, perform the indicated operations, il possible.

1 -1
12 -1 x 5
o B S n A B ]

1

(a) 34 —2B7 9*‘”*"’"“‘*““%/:2 medtveess ) pust Lo exech some size
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(
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— o matrix = one_— mn*(rv‘)(

2. Use the given)matrix equation(to solve for each variable.
) - - =
y .

q-5x =Ll - 20+ 8z2=—F
_5x= 2

o . 32=\3
x=""1/

3. The points (—4, —4) and (2, 7) form a line. Determine the equation of the line in point-slope form
and standard form. Leave all numbers in exact form.

@ me 42T = T o
KT 2-(D 7 6

@ E:#—Sla&'- U}’%‘ :M(x-xt\) where (x,,tg) © cny F°:’L+M IML_,
%&’L*’Ub_tf!“ l?—— mxtle  where [G,'D) s the ‘1-5'»“"
6"'&#@0’*‘ A)ﬂ ‘('B'-}:C/ ware 64',8,5.(, art uJ(’WLL H#e
/

L I
Rk -Sope ™ x}«(-%'—glx-("lﬂ oR (L%«?%—(;(X_ 23>.@

Gg«"ll’ “(x'l)
(Dj,l{): ([x - R

Sundord, - dord —llx by, = <0

2

V('l'\) - mt -\'(Pmrdna&(_ fn‘:.,e.) 4= tirme Lkaurs)
/7 (W= mx “'(9> V="Volue or worth (#)
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VH'\) = mt '\’(PAM fm‘ue) 4= tirme LW)
/7 (s_%: rMmx *"0> V:'(/c.iub“ o worth (#)
4. A particular item depreciates at a rate of $118.27 per year.after purchase, the item’s
value is $1,488.46. Rnl(a Otpis o Hhe looe

(Mg) . («2,149&%‘) m=-lly.2F
Vi =-1%.2%+ b

50
(a) Determine the purchase price of the item.

lassdl = ~U%.2F () +ho

|Jugs.ul + Us.2HD=b
= B\ #as

b= 132s

(b) If the scrap value of the item is $665, how long will it take for the item tg reach its scrap

J value? Round your answer to thqTcarcst tenth g a year.  2+& ole< T
lawas-P # amount the Sek  VIE) = scrap vlu € solve Lr +
tfem can ke worth V€)= -8, 2% + 1325 = GCS

—\F s —\Fas
—U3.RFE= - 1060

p=lee o F 9425 —>]t= 9.0 @

~I18.2F
(axw,(—)

5. A business produces and sells Product Zeta. When the company produces 15 units of the product,
the total cost is $7,143.75 and when the company produces 25 units, the total cost is $7,406.25.
When the company sells 42 units of the product, the total revenue is $3.507. Determine linear
functions representing the total production cost, C'(x), and the total revenue, R(x), for producing
and selling = units of Product Zeta.

(1S, FUB.FS) ) mabe o st vovemset (43, 350F)

Bine ok o

(25, 7406.25)S “uus

st

Rovenue = [5'-‘1.‘4\} price par i#m) -
(ost= (o3t por wew) x+ (Pced cost)

- l"l aK
_ o625 — 7143 = R6.25” O -
m= 25 - 1S~ s free =

2SO+ = Q: n‘c_e,xq 23
3so¥
4

7 (A= 2A.25x +b )
44345 = 26.25(1D+o (x)= $3.5x
3

= ¥3.5
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6. The cost and revenue functions for = units of particular product are given by C(z) = 122z +
11,117.25 and R(x) = 213.5z, respectively. Determine the profit function, P(z), for the product
and discuss any break-even points.

ottt = R v — (CO?(’B )
% P $+ ( e W@ /\/ﬁ JM%_Q,,.?,} o C,\.‘g&m‘m{t is W_’?’a;{-ivu
Yara e cost ‘:Ew-d'u‘w\

T = RS- ¢c) = (Rl?.§x> -mu% 2§>

Break-even:
Pl)= aL.Sx = [l,1F.25 S s = ot

MJ&\IM" P()‘\-: QI. gx — //I/(?.Z$—= o @ P“O?’B“'——' o
/ a—
= - 25
q1.5x = ([ 1T . 2 dems
_ M;lel. <,

- Q{'S/ —_ 7 - « \kcd
Tl Wy N Kuddess ofhwwine specied, e assume
e ®ove : )(-—valubs must be,w(aafa #sj?‘
\u—u«k&vu\ Po,\/\-(—

7. For Ttem Z, the market(price-demand function)is given by(D(x) = p(z) = —0.01z + 12.@ For
the same item, producers are willing t@supply 80)items at & price of $4.35pach and are willing
ttems at acprice of $5.50)each. Determine any equilibrinm points for Item Z.

Py = — 0.0lx 1S

S = D)
M (80,438) & (126,5.5) 0.028x +2.3S= —0.0lx +I(§
m= 5-5 — 4.3¢ = 0‘02{ o~03§x = q08
26 — 3 O 9.9
= - = 280 itemns
4= 0.0a5x +lo 0.035
435 = 0.62§C3’°5 +bL we ?LL%-»M'\'O attar DC‘\ o™ s[K) +o
b= 2.35 o‘u\' He \.%.—‘mlm.z

DLZ?O\) = - 0.0l CJ-VOB +((S

()= 0.028x +2.3F
g $9.25”

(on, CL%S')
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i@fﬁmine the solution(s)Zif any, for the given system of equations. If the case of a parametric
// “solution, use t as the parameter.

[ p) 5wa+/_'/*u-:'2°lﬂ
) “JA,'HO,\/ Janinchion S8z + 6y = —12
%:b) et ™ cedodetor

3
3y = —4 I
Y r+2

M ><;&.Vb Qu-r one vorledale in one qUa:Hau\’ Yan PLA’J Hat into ‘H"L' "4_"”‘/‘

eMA

%,U—G,?-;/\} 4 3(‘%x-2> = -Yx +§
@.ﬁ:f%x-—\a ;sz/«(p-‘—'/fg
3
UY" 'q’;x-;t “b= 2 (“LNN*S M“')
M M"‘l/""(f’l‘)/ ome or boflh e.tymd-u‘ws a  constunt so that e x o

salales Han WOC,L [giu.aﬁ‘w\s must be M Same orelu->

\y Vet
BerGy=-(2 B +—/(Z{=—\1
,‘2.(4%4’31,: %) >¥,Z, ‘}__,3
0;-({ [Ms Mw)
Zy\a soﬂw“'b‘m& '

RR.E F: JA vwéwwg 0n d&‘p'/' { consfants cn rryh.,_

aw&m*-cokmi-ﬁx
Bx tlyg =~ g 6 |-\ RREF
‘/x #?7: 3/9. Y 3 3/>~

Q¥ Yo NoweSireen

2% 5 X7 (metrix) > Bt
22 X7 et

e,d'o:- HN_, M“’r}.)c

= Matn
[ —RREF
p.l.\«la.l-\,ﬁ M gress MMA‘S?

5

{ o soludrlow ( Mot >Ecter = Extes

Week 13 - Final Exam Review Page 6



9. Determine the solutions(s), if any, for the given system of equations. If the case of a parametric
solution, use f as the parameter.

¢ g %m}an S‘&b*-w “‘/ 2 + 3z =30 — 5y x +50) +3=2 = 30
g Vor.\ww P\’R'EP B 062z—6=—-04r—y /7 —2 0.4% +L} +0.z =G
M@"L} \u\w\oxb ge\'\TO\I\. br+2z+11="Ty Gx.,f',}.lr% _—,—n
X 4 ® constant x 9 = constant—
1557
(2 s 3 | 20 | . | 6 ‘%= /44
TI‘C/ [()l
0.4 i 0.6 é S O l ‘y“ /:21
L/é -+ 1 | - 5 o 0 \ 5
SS
X*azf- l{{q %+t‘% 2; O0=0 (aﬂm;{-w_,) qu‘yllub
¢ sadbcoto— W o v
&/ It + be A valobale in lostin egpuections i 00 Solw+t-i
=z _ 155 13 _lot "(—E |
¢ A==t ‘21'%"” [’L‘Li'?\ (l 22 )ﬁz ut)‘t) K

10. Graph the given inequality.

3x+ by > —10

2Z0: SYETC (o,-2)

\,}: —
_ ) - _ (-1%3,0 /
W= 0: 3« (G (o/ 0> S~ N i
X= -[o/_s

) ‘.‘— ‘A Colo) -S\—rf-‘Sn
f ‘l—Q. '\'654' P°A' (o:‘s:\;_,hw

3()+5(0) = -0
O>-16 C(-m-z)
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11. For the given system of inequalities, determine the solutions set and its corner points, the point(s)
where F' = 3z + 6y is minimized, and the point(s) where GG = 10z + 8y is maximized.

80> —Br—dy —=> L L1 80 =-Sx-YHeq

r =2 28 -2y — : v = -
T 228 =2y = L R x= R¥- 2y

' 28@/ W? Ml— \?5: O
L;l’: x=0" ’805“{'1/ L= =6 O= A2%-
2629 (0,29) — = 2y '/.18*)“/ (0,14)
< t},: 14
=0: —gO=-SX
= 6=x (((0403 \1:90 L X =22% (3'7‘4°)
A yest (©:0) fest (6,0)
' 0z 6 (ko 0z 238 (Fle)
)\( ‘
P e (0,20) (=(2%°)

Td K
‘;’“’m@\ ( *=R¥- 2y
| \ % sx +4 = %0 sy eo
4/“.‘”!/7}(/141151 ) C/ rret

T L Ty e Lkl
L ﬁv\ rr(/%“? ‘(W‘ﬁ o

Cornts \("‘:’D F= 8)‘*6&6, ] (m) &= 10x *81

e ¥ in ity it guadraat i
we et “e ﬁ—\ > ’3X+H=%/ ,‘«D
ot conaecfs fhea ¢ X;R?'Dca, I

x - R =2 Leom Bex e
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12. For the following standard maximization problem. rewrite all inequalities as equations using slack
variables and set up the initial simplex tableau.

Maximize:

H=0.132+0.08y +0.11z

Subject To:

X 3x+ 9y — 2z < 455

—|e (437 — 4y — 4z > —3807 -dx 1-"(?* Yz ¢ 330
K 2 —y+3z <420

L; (J{L verbalales on 1@1“9 < (o or eo;‘.&\wﬁ)

l

13. For the given simplex tableau, determine any basic or non-basic variables, the corner point, the

solution, and if it is the optimal solution. If it is not the optimal solution, determine the next
pivot element.

.._{.‘\/L
) (2
besict %, 5,55,V Tz
L 5 4O
Nan«\oa.sk,‘. 2z s 3
T RNE) 2 > 26.92

N».:\:QM:«:\'\L&A}- oD V""A\
(o i d T b

cofnar thw\-? (x‘_uﬁ [ %3 = < 4§€/3/ O/ 0) ?]Va‘(’ K @ \0}3?}47% Ve N
botWom Mow
sob;«;l't‘ov\‘4 v: “’8760 =k collwmn 3

@ s ¢t cons‘ﬁan:&r

Optimal Mot optimall ble fure 2

R

'(”{AL/ bo‘H'OM o % oW 3

2>0,y>0,2>0 X4 TS 5 S H Constunt—
> 3x vy -Re s, = 4SS r% 9 -2 |\l o6 o ofl 4ss
,Wft{j +4z + S5 = 330 -y 4 4 |6 | o o 3%0
N 2x -y + 37+ 55= 40 =2 4 3lo o | o 40
2 013y _o.o‘&} _ole+H=0 043 -00% -0\ O O o | o
— -

ia et
L

CO LN

Sl o negoive # i ® pisd smallest rtion

ﬁ on l3/g n coLMrL 3/ i‘oud3
3
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14. An experiment consists of drawing a marble out of a bag and recording the color (B=blue,
G=green, and Y=yellow), then flipping a coin and recording the results (H=heads, T=tails).

;Q’ P -'sfa-z,z/ e&PO«r et —> a,vu‘c’/ orkcome haos KR Po.r-(-5

(a) Write the sample space for the experiment. What are the total number of events for this
0“* PV g

. ; (%]
experiment? st
o~

S= 5 1B, (8.7, (6H), (67, (0H), (4.1}
n= G simple events

ol # enets = R% = R =61 okl aeats |

(b) If there 3 blue marbles, 2 green marbles, and 6 yellow marbles, what is the probability that
the marble drawn is not yellow?

H# —pa,vom% OIF('C'OAMLS

?k ?rvlao(o;liﬁ = -h% # sutcones

Plye)- T i

jotad # marbles 424G

U

(¢) Using the symbols above, write the symbolic notation of the event: ” ‘ﬁeithell a blue@wellow
marble is dl‘&Wl@ the coin lands on tails”. ’ J = \Q

J/ Co went

and
&
N

(BUY = BNY©
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15. Let J and K be two events of a sample space S. If P(JNK®) = 0.24 and P(J) = 0.48, determine

 the i:ollowing: o "D\\O_w (= .4
\):i$"‘*§ K: %%cwg

J¢= ZW.%% o= ¢ thZ

jﬂ\gg %?&% — X = C)~2"l
3¢ 4wzl —> wte=0.43

><+1 YO = _l

ZP(T)=.43 —= (NN =1-.d5=.S2
X & LS

(a)
3INK —itﬁ P(\)D A +y = .52
2T =Yy

PL= 44 = Y
(by P(K) = Y 4 = . 2F+w
Jo=w

=

C-..
3
[:t"

+°rc
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. 2
16. For the sample space S = {xy, z9, x3, 4, x5}, it is known that P(z;) = %, P(zy) = Ta P(z,) =
1

%: and P(rs) = T2

X ¢ \ X;_ \ X3 \ X,,( X{

(a) Construct a probability distribution for S.
3 2 4 ¥ l
CASCRREI NS
a,U- must™ add ‘o l

e B
N
(b) For the events A = {xy, 24} and B = {x,r3, x5}, determine P(A“ N B)
A(; %xz) XZ) ng D %: é)‘.)xg , X;%
= %X'ﬁ) X{%
SR AB) = P> +Px) = 15 15 = @

(c) What is the expected value for the sample space?
E00= (D(R0d) + (xD(POD) + -

Eoo _ LT« bX ) + (Y he) +(xHD)b)( %»}

11
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17. A game consists of rolling a standard fair 4-sided die and then a standard fair 5-sided die. The
game costs $4 to play. If you roll a sum of 9, you win $9. If you roll a double, you win $8. If you

roll a sum of 5 you win $5. With any other roll you don’t win.
—

S
(5 | B R
2,5 doudole_ — 4
20

3,5 s > 4
20

Jus et - S

(a) Construct a probability distribution for the game where X is the net winnings.
(7 (wa/m:n%s)— Cc.os“r o (_\’.nua)

Be-84  B3-44 a8y 5o T

X\ #5 | 84 | B1 | -84
o(X) | /o \4/20 Too | a0

(b) What is thnet winnings for the player in this game? Is this a fair game?
E()= (\(Vee)+ (1) de (5 + ()] i)

o —’ﬁ 0~6§

[ de erpected et wina 149 S
pd i w wt Swr W E(X#0

12
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18. For the given polynomial functions, determine thdegree, leading coefficient, constant

term, and end-behavior. ke ¢ > 2 restrockiont
(a) f(r) = —102® + 72" — 22° —h:(;li\)s @ dercminator Cto)
23 (—4 =) @ evea root  (insidle 2.0)
degree: n= @ QO} (insicle > O)

5> ond - belavior

- - = + a9
constant Q:B as X=>-49, u}
o&&w/w@ﬂ*%"b as x>+, tjra—é’o
(b) gx) = 32— 9)(a'= 5"+ 2)(x'+ 4)
< —
_’l (_m/m) X'~X"Xz-x'- Xl
Xé
égqm: a= é?
ﬂ gt —=> 9""‘0'%"“\”"- - oS5 X=2>-a0, L}a*—dg
cokbickent © Apn = 3 even .../ fos"{"“"-' as x >+ a9, ‘j‘a"‘"o

oRan- *F/:anw?_

19. For the given functions, determine tl‘m‘dornair? the vertex, ) the (minimum, the maximmmy the
y-intercept, and any{real roots,/zeros. \-
N > IR L/c, e

= —+ _ r “ _\0 )
a T F restroctions : x =z —
( ) f( ) 03:2 833' 3 X *‘m CCF('S (l - ¥( o

Dy (—w0,=) since a=S open up U
B b -3 -4 Moux © Ao)v\.l./ _—L——'m{-s Tawst 5 *+¥y-3=0
x= 3= N = 3 (fskar o qpadratic Sormda)
et y="71 ~ 32 J3= q(e)-3
y= Y-) = -3Ys ¥ N §XJ82 4S)D
./ -37> xz0: y=$0)=-3 2(s)
vertex! ( /s’/ s CO,’B') X = g% (24
(b) g(x) =(7—2z)(z — 4) r—no

g[zb Fx - - WxT + ¥

stace a=-2, apen dowa J),

CK(\;\): - 2¢T ¥(SXx -x¥
Mot La';‘[g

D (-0, =) coa¥s/ zeros®
- Mins o _ =
A | (F-2(x-4)= O
NN ) X=0: 199/[0);'2? +- Ax=0, % -4=0
vertos (T Ye = 2l
13 (01’23) x=F/x

(#2,0) (4.6
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20. For the given functions, determine the domain, any intercepts, any holes, and any vertical asymp-
totes. ? E
% — 25 W X~ §) % F "“A JOWUN BE

(a) h(x) = TR — _
D My F
-3¢0 x+s# 0O L "/X' g\ rw{—n‘ﬁnaw
e s*tu'\?mw

xefa X3S L 2x=3)% Vb Yk x=7x
— -5 3/ o( 3 . — |

= gzuf_ :,) (g/;,w) o (x,—i _O>.éx’3) H."_QL ('5 ) )

- - = ‘ ®x=3 -

XZ2° Y4 53> 3 E = @ /

Y,
Co, /33 [‘:’, -5-5_ _ Z©
(b) k(z) = %{WSHTN 5(’9 3 —13 3
—9f(x — i)"i +1 -?6‘,3)()(1_“)

’%4[)("3)20("'6# o X= 3 x="1 so x=0 & a "LolL—

9406 (D0 x#O are Vs a2

Kt O %+ 3 x#-| Y —q(0-0+D  (-a)(-I)

_ a3

s (- -10—100(030(?@) Y = 2+

D: (o Dol edule o Vh® x=3 % x=-|
2 a4y
AN N Hole @ {0, %=+)
,ﬁ(x~3)()<1'|\ -— A0 :.&-:‘A.{-croo_FF lq/c, X+O
C"'Ho\
21. Fully simplify the given expression.
%{-Ca.u\-o\-b&s XOM

5 =9 x r(2e+1)  x+1
r+1 r+3 r—2 " x-2

(x'3\z ? x (2x 1) 2
wel =2 T

X&-3x
QM) _ X(Qx + l)

X+ | x + )
- lex R T +X
== X
% +( x4—/

(2%x%-Gx) = (&x""-x)
x|
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22. Fully simplify the given expression. Write your answer using only positive exponents.

L et b .,.M‘,,lr% e
() 7k
_ s -4 & 5’\ 5-3
(x4) A%’y 3% @ 9D %
—xT (#0%)
”/a- 6(1) 2 \1/3
44z /’__.
( J-Z?:: 7(3/2 va a/_\ J_f’ , \l}m(’/’)

23. Rewrite the following functions in radical form and detelmlne thelr domam

(a) f(z)=2(19 — 42)"/° 7< - \)/ sy

Hy= 28 (19-10)*

even Toot? Ucl ‘{x 4 j [9-4« Z O
(- '-lx)? z #o IQ z Hx D 4

br

(b) g(x) = Tz +2) 173

1/
%(ﬂ: Sx e (4’7("’9) ®

%(\A: o « 3,’[7«1—2)"’ ble odd oot — o restrections
\D/: C—m,dK))

15
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24. Setup and begin to simplify the difference quotient for the given functions.
(a) f(z)=22% -5z +7
fx vy = $) (a[wh\k Sletn) 1) - (- +P)
- =

5 9\
_ 2xzr k) - Gx-Sh ¥ -2 Sk - F
B I
9
(b) glz) =
1—-=x q ? -i— q
gl = 46 — — T T T mx (1ex=wd-9)
= = -  —
N W h (1-x-)(1-x)
U0 A< -RUE) pktiphy ot b simplily
= Fatia = 4 1-x) = 9(-x-h)
\,\.(('X-’V\B(_"XB L\[/'X’h){/-)()
(©) h(e) = V87 ¥3 o T
/\N/_\ A
W(xeh) — WG Jsome> - I3 Gz (83
/_— = L 4
W n W*’J B+

= (m) - (E;;BI B Blcth)+3 — (8)(4’3)
(s - J57) (G« fos)

16
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25. Rewrite j(x) = 7|8 — 3x| 4+ 2 as a piecewise function.

(3-3<]=0 2. (330 #2 | x2 %3

“3~ % (=
X = 3/3 (sflﬂ-wlw)

t-l9ea <20k

+ . = >
.0 8 x= 3 &
. e heie o 330 | X< /3
_ -g70 8-5(=-1< -
5~ 3(0) 50 \\M:
-HE-390¢, x2¥s3
26. Fully simplify the given expression.
125% . 93z-11 (25 = §3
52 . 1642 6 = 24
< = B — 1l
.3’ s>
B _— s
2-x x-= D-% 4dx-3
57729 SR

3x - (2 'X\D [(?x-ll) - ("lx-b))
—= S ( ¢ R

17
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27. Algebraically solve the given equation.

81 ;2:" -;7)3
o gl= ¢

2?'3:::—1 —

3 2x—|
@ > = —__
-5

28. Write the function h(x) that is the parent function f(z) = /& with the following transformations:

e shift left 5 units 3, X+S

e vertical compression by a factor of 0 3 2
1C > pres: A H 3 ? - )( +— S'

3.3rs -4

ﬁgﬁ? 4

e shift down 4 units

18
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29. Use the given functions to determine the following.

flz) =2vVAz +1 g(x)

@) F+9)@) = F) + ol 2D

(D= 2a=>rl =2af7 =6
n}(;\: 2:2 s

-1~

@4—48362) = Ce + 5 =m

o (Do = %‘E’g\

(oY= 2y9d+1 =250 = 2

o+3

%CO): o—1 -3

SR

(c) flg(=1)) - -
— |+
y('l\'— =1 " :.i == ’

%Cah(-nﬁ = -0 = Q\S‘i(—')H =2{-= @

19
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30. Write the given expression as a single logarithmic term.

N

4 H9og,(x) -@)10&(27 +7) + logg(x — 5)
P b ) b ey )
P top ot 4+~

P

31. Algebraically solve the given equation.

logy(2? —3) =1+ logy(x — 1)

Lofp(x"——% 'QOﬁa(X’|3= J
ﬁoﬂ]a (K:’j \ =

X = >
6—;3 x=0, x=3
e NS
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32. For the given functions, determine the domain.

(a) flz)= ‘S/i;ix T2 i—ff +In(z + 11)

[

ool

G
-1

x| 7 -l Dt (-u,()U(l,Qo)
Oo— \> -
—_— —_—
£ f f —
Y (

5/ —br + 28

(b) gl(z) = m

evua roet -sx+2% 2 0 derom
— e
-Sx Z 2%
xe s

leq: Axt @z0
2 7-F =
&
_9

x7=Y2 (£ T

_ 7/.1

33. How long will it take $5.000 to grow to $12,000 as a one-time investment at an annual interest
rate of 4.3%/compounded continuously?

A” f&rt—

A’ 2000 = O0.A3E

= \ 000 = 000 e

p= 00O Do (¥
r= 0.043 (2 0.cH3€ 7t o043

o.cH3E £tz 4
- drfee ) ) 22T E )
Q,l(u/{) - 0.043t
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34. You borrow $2,500 as a short-ternlOan for 25% interest to be paid back in 30
months. How much will you have to pay back in 30 months?

A:PPL { I=}D/'Zf'

P;:zmo

= .25 A= aswo+ (asco)(.2<) %)
_ 328
t = > Y bA("’ ‘&L{I O(aQ,S-O in 30 mﬂn-s?

. M%s?" erfﬂLin

35. From the following accounts, which would be the best for a = roct-€

_ wmz L
e Account A: 3.8% annual interest, compounded monthly

EM(3%,2) = 3.8668-.-%

=S
e Account B: 3.72% annual interest, compouﬂ'(\led weekly

(372,520 = 3. +E8CF--_- 7

e Account A: 3.85% annual interest, compounded continuously

6- 038(

fﬁp: @r/ / = o / 0.03725 - - —
so  3.9125-- 7%

@&[9/05 ;
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36. How much would you need to deposit in a savings account if the account has a 5.2% annual
interest rate compounded monthly and you want to have $25,000 after 7 years?

N= (DO
Th= 52

e b 4,385 95 shadd

P = O
FV = 2svoo .

7?- = 19'2/ CQQPOSF/?'J
d? = 1=

37. To help with your eventual retirement, you open an account with an iniital deposit of $2,700 when
you are 25 years old. You then make deposits of $150 in the account each month until you are 50

years old. How much 1110110\! is in the account at that polnt7 How much did you earn in interest
from the account? w "ot an wuaL caterest vete o

N = (23(\2) R3% r_,ompou..«_el.L:L Mow(‘w?

:\:%: 23 *La.re/ oy ‘ﬁ le S—BX.OO n Hhe a.C_COu.u:{-
PV= -27F00
PMT = —1SO Iy} PN\A P (PMT\)(N) + PV
Fv= 7 = (1s0)(362)+ RFO0
P/({zll stlf-zlwo

/9=l

f/t+ch%+ -

$ /13838
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38. Your business wants to purchase an office building that costs $850,000. The bank is willing to
finance your business for 82% of the cost at an annual interest rate of 3.3% compounded quarterly
for 10 years. If your business takes out the maximum loan possible, what will be the monthly
payment (to the nearest cent) your business will have to make to the bank each quarter? What
will be the total paid for the building at the end of the loan?

(;}LZB | Wla (?"‘M %@,ZQ/S'D.C(.“

\

N
-
il

u

PmT = €

14

FV=6 tod_ patd= EMTIN) + (Dun Pagoent)
o/¢ =4 = @osﬁz.ll)(‘{o) + (.m %S‘oooos

1 =4 = § 974,164-40
o WEI

\
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